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#include <Servo.h>
int pos = 0;

Servo myservos;
#define trigPin 8

#define echoPin 9
#define BEAT 300
#define PINNO 12

int duration, distance;
int old_distance = 8;

int pinLED = 13;

void setup()
{

myservo.attach(10);
Serial.begin(9600);
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/] variable to store the servo position

/I create servo object to control a servo

Il HEDRS&iaE

/I speeker OUT

/l 8 cm
/l LED pin

/I attaches the servo on pin 10 to the servo object

pinMode(trigPin, OUTPUT);
pinMode(echoPin, INPUT);

pinMode(pinLED, OUTPUT);
pinMode(PINNO, OUTPUT);

void loop()
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int Ecount;

for(pos = 0; pos <= 180; pos +=2) // goes from 0 degrees to 180 degrees

{

myservo.write(pos);

'

Eloop();

Ecount = 0;

'

pos

while(distance <= old_distance){
Ecount++;
if (Ecount > 3)1
digitalWrite(pinLED,HIGH);
tone(PINNO,392,BEAT) ;
delay(BEAT) ;
delay(20);
Ecount = 0;
h
Eloop();
delay(20);
b
digitalWrite(pinLED,LOW);
H
for(pos = 180; pos>=0; pos-=2)
{
digitalWrite(pinLED,LOW);

myservo.write(pos);

' 1

pos
Eloop();

while(distance <= old_distance){
Ecount++;
if (Ecount > 3){
digitalWrite(pinLED,HIGH);
tone(PINNO,392,BEAT) ;
delay(BEAT) ;
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// in steps of 1) degree

/I tell servo to go to position in variable

%

/I goes from 180 degrees to 0 degrees

/I tell servo to go to position in variable

In>



54
55
56
57
58
59
60
61
62

63
64
65
66
67
68
69
70
71
12
73
74
75
76
[
78
79

delay(20);
Ecount = 0;
}
Eloop();
delay(10); //ORG 20
h
digitalWrite(pinLED,LOW);

void Eloop( 1
digitalWrite(trigPin, HIGH);
delayMicroseconds(1000);
digitalWrite(trigPin, LOW);
duration = pulseln(echoPin, HIGH);
/I distance = (duration/2) / 29.1;
distance = (duration/2) / 29;
if (distance >= 200 | | distance <= 0){
H
else {
Serial.print(pos);
Serial.print(" deg ");
Serial.print(distance);
Serial.println(" cm");
§
delay(10);
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#include<Servo.h>
Servo myservo;
int val;

void setup()
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. myservo.attach(12); //5 ¥ # L 12/ L & —ROMEMSHHE L L LT
9 -

10" void loop()
1
12

13 myservo.write(val); //3—7R Z &) 7H>77(0 )

14 delay(1000);
15

16 myservo.write(val); /4 —7R & @ 7>3(90 FE)

17 delay(lOOO)
18

19 myservo. erte(val) 11— % & n>3(180 )

20 delay(1000);
21

22 myservo.write(val); /4 —7R Z & 7>37(90 FE)
23 delay(1000);
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W #include <Servo.h>
2 Servo myservo;
3 intval; 1 —RDOAEZ AN TEL TZ2HDEE val
N void setup(
B
6 Serial.begin (9600);
" myservo.attach(12);
8 val=0;
- ;
void loop()
1 1 {
12 myservo.write(val); /% —R &85
13 delay(1000); /1 Fbf= L
14 val = (val+10)%190 ;
15 Serial.print(val);
16 Serial.println(" an angle ");
m
18
19
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#include <Servo.h>

Servo servo;
String str;

void setup()
{

str="";
servo.attach(12);
Serial.begin(9600);
Serial.print("Start");
servo.write(0);

}

void loop()

{

17 if (Serial.available() > 0)
18 ¢

19 char ¢ = Serial.read();
20 Serial.print(c);

21 if (c == "¥n")

22 {

23 servo.write(str.toInt();
24 str="",
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28 str += ¢;
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#include <Servo.h>

#define SERVOPIN  (12)
#define VOLUMEPIN (0)

Servo g_servo;

void setup()
{
g_servo.attach(SERVOPIN);

int Map( int iIn, int iIn1, int iIn2, int iOutl, int iOut2, boolean bConstrain

double dValue = (double)GIn - iIn1) * GOut2 - iOutl) / GIn2 - iIn1) + iOutl;

§
false )
{
int iValue = (0 < dValue) ? (int)(dValue + 0.5) : (int)(dValue - 0.5);
if( bConstrain )
{
int 10utMin, 10utMax;
if(iOutl < iOut2)
{
10utMin= 10ut1;
10utMax= 10ut2;
§
else
{
10utMin= 10ut?2;
10utMax= 10ut1;
§
if(iOutMin > iValue )
{
return 10utMin;
§
if(iOutMax < iValue )
{
return 10utMax;
§
§
return 1Value;
§
void loop()
{
int iValue = analogRead(VOLUMEPIN);
int iAngle = Map(Value, 0, 1023, 0, 180, true);
g servo.write(iAngle);
delay(15);
}
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